تمرین سری ششم

[image: ]            [image: ]
[image: ]

            [image: ]
[bookmark: _GoBack][image: ]	[image: ]

        [image: ][image: ]


[image: ]

[image: ]
         [image: ][image: ]

image3.emf

image4.emf

image5.emf

image6.emf

image7.emf

image70.emf

image8.emf

image9.emf

image10.emf

image11.emf

image110.emf

image12.emf

image1.emf

image13.emf

image2.png
Knowing that the tension in wire BD is 1300 N, determine the
reaction at the fived support C of the frame shown.




